	1926 Annual Roofing Repair and Replacement	it Oity-Wide	(DID# Z-	Advanced Roofing, Inc,Fort		Decktight Roofing Services,		Ad Date: 11/14/2013 A-Star Contractors, Inc, Hollywood	
Bid Date: Item	January 15, 2014	Quantity	Unit	Lauderdale, F Unit Price	L Item Total	Inc,Fort Laud Unit Price	erdale, FL Item Total	FL Unit Price	Item Total
1A	Prior to Contractor beginning any other work at the site, Contractor shall remove the asbestos containing material using a licensed asbestos abatement Contractor. report recommendations provided by the City.	1	AL	\$20,000.00	\$20,000.00		\$20,000.00		\$0.00
1B	Contractor markup and overhead is disallowed. Payment shall be based on actual bonafide receipts.	1	AL	\$20,000.00	\$20,000.00		\$20,000.00		\$0.00
2A	Small Roof Repair Areas: 0 S.F 500 S.F.	500	SF	\$5.00	\$2,500.00		\$2,000.00		\$0.00
2B	Medium Roof Repair/Replacement areas. 501 S.F 10,000 S.F.	28000	SF	\$1.00	\$28,000.00		\$26,600.00		\$0.00
2C	Large Roof Repair/Replacement Areas: Over 10,001 S.F.	62000	SF	\$1.00	\$62,000.00	\$0.95	\$58,900.00		\$0.00
3A a	Small Roof Repair Areas: MOPPED IN 0 S.F 500 S.F.	500	SF	\$3.50	\$1,750.00	\$3.50	\$1,750.00		\$0.00
3A b	Medium Roof Repair/Replacement areas 501 S.F 10,000 S.F.	28000	SF	\$2.50	\$70,000.00	\$2.40	\$67,200.00		\$0.00
3A c	Large Roof Repair/Replacement Areas Over 10,001 S.F.	62000	SF	\$2.50	\$155,000.00	\$2.40	\$148,800.00		\$0.00
3B a 3B b	Small Roof Repair Areas: MECHanically attach. 0 S.F 500 S.F.	500	SF SF	\$5.00	\$2,500.00	\$4.00	\$2,000.00		\$0.00
3B C	Medium Roof Repair/Replacement areas 501 S.F 10,000 S.F. Large Roof Repair/Replacement Areas Over 10,001	28000 62000	SF	\$2.50	\$70,000.00	\$2.60	\$72,800.00		\$0.00
4A	S.F. Small Roof Repair Areas: 4 ply modified bituman sys. 0	500	SF	\$2.50	\$155,000.00	\$2.60	\$161,200.00		\$0.00
4B	S.F 500 S.F. Medium Roof Repair/Replacement areas. 501 S.F	500	SF	\$10.00	\$5,000.00	\$5.00	\$2,500.00		\$0.00
4C	10,000 S.F. Large Roof Repair/Replacement Areas: Over 10,001	10001	SF	\$2.50	\$1,252.50	\$2.40	\$1,202.40		\$0.00
5A a	S.F. Small Roof Repair Areas: MOPPED IN 0 S.F 500 S.F.	500	SF	\$3.00	\$30,003.00	\$2.80	\$28,002.80		\$0.00
5A b	Medium Roof Repair/Replacement areas 501 S.F	28000	SF	\$8.00	\$4,000.00	\$4.00	\$2,000.00		\$0.00
5A c	10,000 S.F. Large Roof Repair/Replacement Areas Over 10,001	62000	SF	\$2.00	\$56,000.00	\$4.00	\$112,000.00		\$0.00
5B a	S.F. Small Roof Repair Areas: MECHanically attach 0 S.F	500	SF	\$3.00	\$186,000.00	\$3.70	\$229,400.00		\$0.00
5B b	500 S.F. Medium Roof Repair/Replacement areas 501 S.F	7500	SF	\$8.00	\$4,000.00	\$4.10	\$2,050.00		\$0.00
5B c	10,000 S.F. Large Roof Repair/Replacement Areas Over 10,001	25000	SF	\$2.00	\$15,000.00	\$2.00	\$15,000.00		\$0.00
5C a	S.F. Small Roof Repair Areas: Aluminum Roof Coating 0	500	SF	\$3.00	\$75,000.00	\$2.00	\$50,000.00		\$0.00
5C b	S.F 500 S.F. Medium Roof Repair/Replacement areas 501 S.F	7500	SF	\$10.00	\$5,000.00	\$1.00	\$500.00		\$0.00
5C c	10,000 S.F. Large Roof Repair/Replacement Areas Over 10,001	25000	SF	\$1.00	\$7,500.00	\$0.75	\$5,625.00		\$0.00
6a	S.F. Small Roof Repair Areas: Install approved cants 1 1/2 X	100	LF	\$0.50	\$12,500.00	\$0.50	\$12,500.00		\$0.00
6b	3 1/2 0 S.F500 S.F. Medium Roof Repair/Replacement areas 501 S.F	7000	LF	\$5.00	\$500.00		\$400.00		\$0.00
6c	10,000 S.F.L. Large Roof Repair/Replacement Areas Over 10,001	200	LF	\$0.50	\$3,500.00		\$14,000.00		\$0.00
7a	S.F.L. Small Roof Repair Areas: Install flexable non-metalic	25	LF	\$2.00	\$400.00		\$120.00		\$0.00
7b	flashing 0 S.F 500 S.F. Medium Roof Repair/Replacement areas 501 S.F	90	LF	\$20.00	\$500.00	Ì	\$300.00		\$0.00
	10,000 S.F.			\$20.00	\$1,800.00	\$10.00	\$900.00		\$0.0

	• •		•	Advanced Ro	ofing, Inc,Fort	Decktight Ro	ofing Services,	A-Star Contractors, Inc, Hollywood		
Bid Date:	January 15, 2014	0 44	l lmit	Lauderdale, F		Inc,Fort Laud		FL Hait Brice Hem Total		
Item 7c	Large Roof Repair/Replacement Areas Over 10,001	Quantity 200	Unit LF	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	
	S.F.			\$20.00	\$4,000.00	\$10.00	\$2,000.00		\$0.00	
8a	Small Roof Repair Areas: BUILT UP ROOF/REPAIR 0 S.F 500 S.F.	200	SF	\$10.00	\$2,000.00	\$10.00	\$2,000.00		\$0.00	
8b	Medium Roof Repair/Replacement areas 501 S.F 15,000 S.F.	600	SF	\$1.00	\$600.00	\$1.00	\$600.00		\$0.00	
9a	Small Roof Repair Areas: Install built-up 0 S.F 500 S.F.	200	SF	\$10.00	\$2,000.00	\$4.00	\$800.00		\$0.00	
9b	Medium Roof Repair/Replacement areas 501 S.F 15,000 S.F.	600	SF	\$1.00	\$600.00	\$1.50	\$900.00		\$0.00	
10a	Small Roof Repair Areas: Install wall sheet metal flashing 8" wide0 S.F 500 S.F.	100	LF	\$10.00	\$1,000.00	\$7.00	\$700.00		\$0.00	
10b	Medium Roof Repair/Replacement areas 501 S.F 10.000 S.F.	9000	LF	\$3.00	\$27,000.00	\$5.00	\$45,000.00		\$0.00	
10c	Large Roof Repair/Replacement Areas Over 10,001 S.F.	200	LF	\$10.00	\$2,000.00	·	\$1,000.00		\$0.00	
11A a	Small Roof Repair Areas:Install 4" metal drip edge 24 Gauge Galvanized Steel 0 S.F 500 S.F.	25	LF	\$18.00	\$450.00	·	\$375.00		\$0.00	
11A b	Medium Roof Repair/Replacement areas 501 S.F 10,000 S.F.	90	LF	\$15.00	\$1,350.00		\$900.00		\$0.00	
11A c	Large Roof Repair/Replacement Areas Over 10,001 S.F.	100	LF	\$10.00	\$1,000.00		\$800.00		\$0.00	
11B a	S.F. Small Roof Repair Areas: 24 Gauge Stainless Steel 0 S.F 500 S.F.	100	LF	\$5.00	\$1,000.00	·	\$1,500.00		\$0.00	
11B b	Medium Roof Repair/Replacement areas 501 S.F	3500	LF		·				·	
11B c	10,000 S.F. Large Roof Repair/Replacement Areas Over 10,001	300	LF	\$5.00	\$17,500.00		\$35,000.00		\$0.00	
11C a	S.F. Small Roof Repair Areas: Copper 0 S.F 500 S.F.	25	LF	\$10.00 \$15.00	\$3,000.00 \$375.00		\$2,400.00 \$500.00		\$0.00 \$0.00	
11C b	Medium Roof Repair/Replacement areas 501 S.F	50	LF	,			·		·	
11C c	10,000 S.F. Large Roof Repair/Replacement Areas Over 10,001	50	LF	\$10.00	\$500.00	\$20.00	\$1,000.00		\$0.00	
	S.F.			\$12.00	\$600.00	\$15.00	\$750.00		\$0.00	
11D a	Small Roof Repair Areas: Aluminum 0 S.F 500 S.F.	25	LF	\$5.00	\$125.00	\$15.00	\$375.00		\$0.00	
11D b	Medium Roof Repair/Replacement areas 501 S.F 10,000 S.F.	50	LF	\$5.00	\$250.00	\$12.00	\$600.00		\$0.00	
11D c	Large Roof Repair/Replacement Areas Over 10,001 S.F.	50	LF	\$5.00	\$250.00	\$10.00	\$500.00		\$0.00	
12a	Small Roof Repair Areas: install wall counter flashing 24 quage stainless steel 0 S.F 500 S.F.	25	LF	\$20.00	\$500.00	\$20.00	\$500.00		\$0.00	
12b	Medium Roof Repair/Replacement areas 501 S.F 10,000 S.F.	5000	LF	\$5.00	\$25,000.00		\$60,000.00		\$0.00	
12c	Large Roof Repair/Replacement Areas Over 10,001 S.F.	200	LF	\$15.00	\$3,000.00		\$2,000.00		\$0.00	
13A a	Small Roof Repair Areas: Install Metal coping cap, snap lock sys, 8" wide 24 Gauge Galvanized Steel 0 S.F	25	LF	Ψ10.00	ψ0,000.00	Ψ10.00	Ψ2,000.00		φο.σο	
	500 S.F.			\$30.00	\$750.00	\$20.00	\$500.00		\$0.00	
13A b	Medium Roof Repair/Replacement areas 501 S.F 10,000 S.F.	50	LF	\$10.00	\$500.00	\$15.00	\$750.00		\$0.00	
13A c	Large Roof Repair/Replacement Areas Over 10,001 S.F.	50	LF	\$10.00	\$500.00	\$12.00	\$600.00		\$0.00	
13B a	Small Roof Repair Areas: 24 Gauge Stainless Steel 0 S.F 500 S.F.	25	LF	\$35.00	\$875.00	\$18.00	\$450.00		\$0.00	
13B b	Medium Roof Repair/Replacement areas 501 S.F 10,000 S.F.	4000	LF	\$10.00	\$40,000.00	\$18.00	\$72,000.00		\$0.00	
13B c	Large Roof Repair/Replacement Areas Over 10,001 S.F.	200	LF	\$10.00	\$2,000.00		\$3,600.00		\$0.00	

					· .	-	•	A-Star Contractors, Inc, Hollywood		
Bid Date:	January 15, 2014	Quantity	Unit	Lauderdale, F Unit Price	L Item Total	Inc,Fort Laud Unit Price	erdale, FL Item Total	FL Unit Price	Item Total	
Item 13C a	Small Roof Repair Areas: Aluminum with Kynar Finish 0	Quantity 25	LF	Unit Frice	item rotai	Unit Frice	item rotai	Unit Price	lleili Tolai	
	S.F 500 S.F.			\$20.00	\$500.00	\$21.00	\$525.00		\$0.0	
13C b	Medium Roof Repair/Replacement areas 501 S.F 10,000 S.F.	50	LF	\$15.00	\$750.00	\$19.00	\$950.00		\$0.0	
13C c	Large Roof Repair/Replacement Areas Over 10,001 S.F.	50	LF	\$15.00	\$750.00	\$18.00	\$900.00		\$0.0	
14	Install pipe mounting pedestals (4), with equipment rail (3 feet x 3 feet), and flashing, 18 inches high.	15	EA	\$750.00	\$11,250.00	\$500.00	\$7,500.00		\$0.0	
15	Install pitch pocket, for 6-inch diameter vertical element.	10	EA	\$175.00	\$1,750.00	\$75.00	\$750.00		\$0.0	
16	Install pipe or duct mounting roof pedestal, 18 gauge galvanized steel complete with flashing, 12-inches high.	4	EA	\$275.00	\$1,100.00	\$350.00	\$1,400.00		\$0.0	
17	Install roof penetration flashings, stainless steel 26 GA.,	10	EA	Ψ213.00	ψ1,100.00	ψ330.00	Ψ1,+00.00		ψ0.0	
	with sealant cover, for vertical 6 inch diameter element, 9 inches high, umbrella type.			\$200.00	\$2,000.00	\$175.00	\$1,750.00		\$0.0	
18	Install 12 inches high, 3 feet wide x 3 feet long, roof equipment support curbs, 1½ inches thick 3 lbs., rigid insulation, 18 GA., Galvanized steel shell, base plate	10	EA							
	and fully mitered 3 inches cant.			\$450.00	\$4,500.00	\$500.00	\$5,000.00		\$0.0	
19	Install rubber boot flashings for vertical round penetrations, typically vent stacks, 4-6 inches diameter, 8 inches high, complete with stainless steel clamps.	10	EA							
20	Lastell Circles and design standard due and design	40	EA	\$75.00	\$750.00	\$75.00	\$750.00		\$0.0	
20	Install 6 inches roof drain, standard dura-coated cast iron, steel inserts with strainer, and clamps (by Zurin, or approved equal).	40	EA	\$600.00	\$24,000.00	\$900.00	\$36,000.00		\$0.0	
21 a	Small Roof Repair Areas: Install Expansion Joint cover 0 S.F 500 S.F.	25	LF	\$30.00	\$750.00	\$25.00	\$625.00		\$0.0	
21 b	Medium Roof Repair/Replacement areas 501 S.F 10,000 S.F.	50	LF	\$22.00	\$1,100.00	\$22.00	\$1,100.00		\$0.0	
21 c	Large Roof Repair/Replacement Areas Over 10,001 S.F.	50	LF	\$20.00	\$1,000.00	\$20.00	\$1,000.00		\$0.0	
22	Install plumbing vent flashing,lead sleeve & coupling,installed 4" pipe	15	EA	\$75.00	\$1,125.00	\$75.00	\$1,125.00		\$0.0	
23 A	Install 8 in high X 16 in wide metal scaupper, drip strip,raglet flashing:24 Gauge Galvanized Steel	2	EA	\$100.00	\$200.00	\$150.00	\$300.00		\$0.0	
23 B	24 Gauge Stainless Steel	40	EA	\$300.00	\$12,000.00	\$300.00	\$12,000.00		\$0.0	
24A a	Small Roof Repair Areas: 6" dia leader 24 Gauge Galvanized Steel 0 S.F 500 S.F.	25	LF	\$10.00	\$250.00	\$10.00	\$250.00		\$0.0	
24A b	Medium Roof Repair/Replacement areas 501 S.F 10,000 S.F.	50	LF	\$7.00	\$350.00	\$8.00	\$400.00		\$0.0	
24A c	Large Roof Repair/Replacement Areas Over 10,001	50	LF	\$7.00	\$350.00	\$6.00	\$300.00		\$0.0	
24B a	Small Roof Repair Areas: 24 Gauge Stainless Steel 0 S.F 500 S.F.	25	LF	\$20.00	\$500.00	\$20.00	\$500.00		\$0.0	
24B b	Medium Roof Repair/Replacement areas 501 S.F 10.000 S.F.	250	LF	\$15.00	\$3,750.00	\$18.00	\$4,500.00		\$0.0	
24B c	Large Roof Repair/Replacement Areas Over 10,001 S.F.	200	LF	\$15.00	\$3,000.00	\$15.00	\$3,000.00		\$0.0	
24C a	S.F. Small Roof Repair Areas: Anodized Aluminum 0 S.F 500 S.F.	25	LF	\$10.00	\$250.00	\$15.00	\$5,000.00		\$0.0	
24C b	Medium Roof Repair/Replacement areas 501 S.F 10,000 S.F.	50	LF	\$8.00	\$400.00	\$20.00	\$900.00		\$0.0	
24C c	Large Roof Repair/Replacement Areas Over 10,001	50	LF	\$5.00	\$400.00 \$250.00	\$18.00	\$900.00 \$750.00		\$0.0	
25A a	S.F. Small Roof Repair Areas:Install 4" wide metal gutter	25	LF	φο.00	φ250.00	φ10.00	φ/ 50.00		\$0.0	
	system, 24 Gauge Galvanized Steel 0 S.F 500 S.F.			\$3.00	\$75.00	\$5.00	\$125.00		\$0.0	

	1926 Annual Roofing Repair and Replacemen		`		ofing, Inc,Fort	Decktight Ro	ofing Services,	A-Star Contra	actors, Inc, Hollywood
Bid Date:	January 15, 2014			Lauderdale, F		Inc,Fort Lauderdale, FL		FL	
ltem		Quantity	Unit	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
25A b	Medium Roof Repair/Replacement areas 501 S.F 10,000 S.F.	50	LF	\$5.00	\$250.00	\$3.50	\$175.00)	\$0.00
25A c	Large Roof Repair/Replacement Areas Over 10,001 S.F.	50	LF	\$7.00	\$350.00	\$3.00	\$150.00)	\$0.00
25B a	Small Roof Repair Areas: 24 Gauge Stainless Steel 0 S.F 500 S.F.	120	LF	\$20.00	\$2,400.00	\$20.00	\$2,400.00		\$0.00
25B b	Medium Roof Repair/Replacement areas 501 S.F 10,000 S.F.	1800	LF	\$9.00	\$16,200.00	\$18.00	\$32,400.00)	\$0.00
25B c	Large Roof Repair/Replacement Areas Over 10,001 S.F.	600	LF	\$9.00	\$5,400.00	\$15.00	\$9,000.00)	\$0.00
25C a	Small Roof Repair Areas: Anodized Aluminum 0 S.F 500 S.F.	25	LF	\$10.00	\$250.00	\$20.00	\$500.00)	\$0.00
25C b	Medium Roof Repair/Replacement areas 501 S.F 10,000 S.F.	50	LF	\$8.00	\$400.00	\$18.00	\$900.00)	\$0.00
25C c	Large Roof Repair/Replacement Areas Over 10,001	50	LF	\$5.00	\$250.00	·	\$750.00	İ .	\$0.00
26A	Supervisor - Regular rate	500	HR	\$30.00	\$15,000.00	\$30.00	\$15,000.00		\$0.00
26A	Supervisor - Overtime rate	200	HR	\$30.00	\$6,000.00	\$30.00	\$6,000.00)	\$0.00
26B	Journeyman- Regular rate	500	HR	\$70.00	\$35,000.00	\$55.00	\$27,500.00		\$0.00
26B	Journeyman- Overtime rate	200	HR	\$70.00	\$14,000.00	\$70.00	\$14,000.00		\$0.00
26C	Roofer's Helper- Regular rate	500	HR	\$45.00	\$22,500.00	\$45.00	\$22,500.00		\$0.00
26C	Roofer's Helper- Overtime rate	200	HR	\$45.00	\$9,000.00	\$50.00	\$10,000.00		\$0.00
27 a	Small Roof Repair Areas: Install type II,fabric reinforced Uniform EPDM 0 S.F 200 S.F.	500	SF	\$2.00	\$1,000.00	\$3.00	\$1,500.00		\$0.00
27 b	Medium Roof Repair/Replacement areas 200 S.F 2,000 S.F.	1500	SF	\$1.50	\$2,250.00		\$3,750.00		\$0.00
27 c	Large Roof Repair/Replacement Areas Over 2,000 S.F.	2000	SF	\$0.75	\$1,500.00	·	\$4,400.00		\$0.00
28 a	Small Roof Repair Areas: Install 60 mil fabric reinforced Uniform TPO 0 S.F 500 S.F.	500	SF	\$5.00	\$2,500.00		\$1,500.00		\$0.00
28 b	Medium Roof Repair/Replacement areas 500 S.F 3.000 S.F.	3500	SF	\$2.50	\$8,750.00	\$2.50	\$8,750.00		\$0.00
28 c	Large Roof Repair/Replacement Areas Over 3,000 S.F.	30000	SF		• •	·			
29 a	Small Roof Repair Areas: Coal Tar 0 S.F 500 S.F.	500	SF	\$3.50	\$105,000.00		\$67,500.00		\$0.00
29 b	Medium Roof Repair/Replacement areas 501 S.F	501	SF	\$8.00	\$4,000.00	\$8.00	\$4,000.00	'	\$0.00
00 -	10,000 S.F.	40004	SF	\$5.00	\$2,505.00	\$3.00	\$1,503.00)	\$0.00
29 с	Large Roof Repair/Replacement Areas Over 10,000 S.F.	10001		\$3.00	\$30,003.00	\$3.00	\$30,003.00)	\$0.00
30 A a	Small Roof Repair Areas: 5/8" CDX Plywood 0 S.F 500 S.F.	1500	SF	\$3.00	\$4,500.00	\$3.50	\$5,250.00)	\$0.00
30 A b	Medium to Large Roof Repair area 501 S.F. and up.	2000	SF	\$3.00	\$6,000.00	\$3.00	\$6,000.00)	\$0.00
30 B a1	Small Roof Repair Areas: 2"x6" T&G Wood (Fir) 0 S.F 500 S.F.	1500	SF	\$10.00	\$15,000.00	\$10.00	\$15,000.00)	\$0.00
30 B a2	Small Roof Repair Areas: Curved Roof	1500	SF	\$10.00	\$15,000.00	\$10.00	\$15,000.00		\$0.00
30 B b1	Medium to Large Roof Repair Areas: 2"x6" T&G Wood (Fir) 501 S.F. and up	2000	SF	\$8.00	\$16,000.00	\$8.00	\$16,000.00		\$0.00
30 B b2	Medium to Large Roof Repair Areas: 2"x6" T&G Wood (Fir) Curved Roof	2500	SF	\$8.00	\$20,000.00	\$10.00	\$25,000.00	,	\$0.00
31 A a	Small Roof Repair Areas: 6 Mil Polyethylene Sheet 0 S.F 500 S.F.	1500	SF	\$0.50	\$750.00	\$0.75	\$1,125.00)	\$0.00
31 A b	Medium to Large Roof Repair/Replacement areas 501 S.F. and up.	2000	SF	\$0.40	\$800.00		\$1,000.00		\$0.00
31 B a	Small Roof Repair Areas:30 lbs. Felts saturated, organic 0 S.F 500 S.F.	1500	SF	\$1.50	\$2,250.00	·	\$1,125.00		\$0.00

riojeci - i	1926 Annual Roofing Repair and Replacement	it City-wide	(610# 24		ofing, Inc,Fort	Estimate: Decktight Ro	\$2,000,000.00 ofing Services.	Ad Date: 11/14/2013 A-Star Contractors, Inc, Hollywood		
Bid Date:	January 15, 2014			Lauderdale, F	•	Inc,Fort Laud		FL		
ltem		Quantity	Unit	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	
31 B b	Medium to Large Roof Repair/Replacement areas 501 S.F. and up.	2000	SF	\$2.00	\$4,000.00	\$0.50	\$1,000.00		\$0.00	
31 C a	Small Roof Repair Areas : self-adhearing underlayment 55 mils 0 S.F 500 S.F.	1500	SF	\$4.00	\$6,000.00	\$1.25	\$1,875.00		\$0.00	
31 C b	Medium to Large Roof Repair/Replacement areas 501 S.F. and up.	2000	SF	\$3.50	\$7,000.00	\$1.10	\$2,200.00		\$0.00	
31 D a	Small Roof Repair Areas : self-adhearing underlayment 40 mils, slip resisting polythene film 0 S.F 500 S.F.	1500	SF	\$5.00	\$7,500.00	\$1.25	\$1,875.00		\$0.00	
31 D b	Medium to Large Roof Repair/Replacement areas 501 S.F. and up.	2000	SF	\$4.50	\$9,000.00	\$1.10	\$2,200.00		\$0.00	
31 E a	Small Roof Repair Areas : self-adhearing underlayment 40 mils high temp 0 S.F 500 S.F.	1500	SF	\$5.00	\$7,500.00	\$1.25	\$1,875.00		\$0.00	
31 E b	Medium to Large Roof Repair area: self-adhearing underlayment 40 mils high temp 501 S.F and up	2000	SF	\$4.50	\$9,000.00	\$1.10	\$2,200.00		\$0.00	
31 F a	Small Roof Repair Areas : slip sheet building paper 0 S.F 500 S.F.	1500	SF	\$0.50	\$750.00	\$0.50	\$750.00		\$0.00	
31 F b	Medium to Large Roof Repair/Replacement areas 501 S.F. and up.	2000	SF	\$0.25	\$500.00	\$0.30	\$600.00		\$0.00	
32 A a	Small Roof Repair Areas : Install pressure treated blocking 2 x 4 0 S.F 500 S.F.	100	SF	\$5.00	\$500.00	\$5.00	\$500.00		\$0.00	
32 A b	Medium Roof Repair/Replacement areas: 2 x 4 501 S.F and up	300	SF	\$4.00	\$1,200.00	\$3.00	\$900.00		\$0.00	
32 B a	Small Roof Repair Areas : 2 x 6 0 S.F 500 S.F.	100	SF	\$6.00	\$600.00	\$6.00	\$600.00		\$0.00	
32 B b	Medium Roof Repair/Replacement areas: 2 x 6 501 S.F and up	300	SF	\$5.00	\$1,500.00	\$3.50	\$1,050.00		\$0.00	
32 C a	Small Roof Repair Areas: 2 x 8 0 S.F 500 S.F.	100	SF	\$10.00	\$1,000.00	\$6.50	\$650.00		\$0.00	
32 C b	Medium Roof Repair/Replacement areas: 2 x 8 501 S.F and up.	300	SF	\$8.00	\$2,400.00	\$3.75	\$1,125.00		\$0.00	
33 A a	Small Roof Repair Areas : 4in profile 24 gauge SS Flashing 0 S.F 500 S.F.	100	SF	\$10.00	\$1,000.00	\$10.00	\$1,000.00		\$0.00	
33 A b	Medium to Large Roof Repair/Replacement areas 501 S.F. and up.	3800	SF	\$3.00	\$11,400.00	\$8.00	\$30,400.00		\$0.00	
34 A a	Small Roof Repair Areas : 24 Gauge 6 x 6 galvanized gutter 0 S.F 500 S.F.	100	SF	\$25.00	\$2,500.00	\$12.00	\$1,200.00		\$0.00	
34 A b	Medium to Large Roof Repair/Replacement areas 501 S.F. and up.	100	SF	\$20.00	\$2,000.00	\$10.00	\$1,000.00		\$0.00	
34 B a	Small Roof Repair Areas : 6 x 6 S.S. 24 Guage gutter 0 S.F 500 S.F.	100	SF	\$25.00	\$2,500.00	\$20.00	\$2,000.00		\$0.00	
34 B b	Medium to Large Roof Repair/Replacement areas 501 S.F. and up.	3500	SF	\$15.00	\$52,500.00	\$19.00	\$66,500.00		\$0.00	
35 a	Small Roof Repair Areas: install rigid standard ridge vent 0 S.F 500 S.F.	100	SF	\$10.00	\$1,000.00	\$8.00	\$800.00		\$0.00	
35 b	Medium to Large Roof Repair/Replacement areas 501 S.F. and up.	100	SF	\$8.00	\$800.00	\$8.00	\$800.00		\$0.00	
36 a	Small Roof Repair Areas: install glass fiber reinforced asphalt shingles 0 S.F 500 S.F.	500	SF	\$3.50	\$1,750.00	\$4.00	\$2,000.00		\$0.00	
36 b	Medium to Large Roof Repair/Replacement areas 501 S.F. and up.	1000	SF	\$2.50	\$2,500.00	\$3.50	\$3,500.00		\$0.00	
37 a	Small Roof Repair Areas: install 20 oz. Copper shingles 0 S.F 500 S.F.	100	SF	\$30.00	\$3,000.00	\$10.00	\$1,000.00		\$0.00	
38 A a	Small Roof Repair Areas: install galvanized steel sheet - standing seam 0 S.F 500 S.F.	500	SF	\$15.00	\$7,500.00	\$15.00	\$7,500.00		\$0.00	
38 A b	Medium to Large Roof Repair/Replacement areas 501 S.F. and up.	501	SF	\$15.00	\$7,515.00		\$6,012.00		\$0.00	
38 B a	Small Roof Repair Areas: install galvanized steel sheet - batten seam 0 S.F 500 S.F.	500	SF	\$10.00	\$5,000.00	\$10.00	\$5,000.00		\$0.00	
38 B b	Medium to Large Roof Repair/Replacement areas 501 S.F. and up.	501	SF	\$8.00	\$4,008.00		\$4,008.00		\$0.00	

					0, ,	_		A-Star Contractors, Inc, Hollywood		
Bid Date:	January 15, 2014			Lauderdale, F		Inc,Fort Laud	,	FL		
ltem		Quantity	Unit	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	
39 A a	Small Roof Repair Areas: install Aluminum sheet - standing seam 0 S.F 500 S.F.	500	SF	\$10.00	\$5,000.00	\$15.00	\$7,500.00		\$0.0	
39 A b	Medium to Large Roof Repair/Replacement areas 501 S.F. and up.	2000	SF	\$17.00	\$34,000.00	\$12.00	\$24,000.00		\$0.0	
39 B a	Small Roof Repair Areas: install Aluminum sheet - batten seam 0 S.F 500 S.F.	500	SF	\$5.00	\$2,500.00	\$11.00	\$5,500.00		\$0.0	
39 B b	Medium to Large Roof Repair/Replacement areas 501 S.F. and up.	501	SF	\$4.00	\$2,004.00	\$9.00	\$4,509.00		\$0.0	
39 C b	Small Roof Repair Areas: install Aluminum sheet - flat seam 0 S.F 500 S.F.	500	SF	\$5.00	\$2,500.00	\$18.00	\$9.000.00		\$0.0	
39 C b	Medium to Large Roof Repair/Replacement areas 501 S.F. and up.	501	SF	\$4.00	\$2,004.00	\$15.00	\$7,515.00		\$0.0	
39 D c	Small Roof Repair Areas: install Aluminum sheet - Ridged Metal Bldg roofing 0 S.F 500 S.F.	500	SF	\$10.00	\$5,000.00	\$8.00	\$4,000.00		\$0.0	
39 D b	Medium to Large Roof Repair/Replacement areas 501 S.F. and up.	501	SF	\$8.00	\$4,008.00	\$8.00	\$4,008.00		\$0.0	
40 A a	Small Roof Repair Areas: install clay roof tile- spanish S tile 0 S.F 500 S.F.	500	SF	\$5.00	\$2,500.00	\$5.50	\$2,750.00		\$0.0	
40 A b	Medium to Large Roof Repair/Replacement areas 501 S.F. and up.	1000	SF	\$4.00	\$4,000.00	\$5.00	\$5,000.00		\$0.0	
10B a	Small Roof Repair Area:Barrel Tile 0 S.F 500S.F.	500	SF	\$10.00	\$5,000.00	\$10.00	\$5,000.00		\$0.0	
40B b	Medium to Large Roof Repair/Replacement areas 501 S.F. and up.	1000	SF	\$9.00	\$9,000.00	\$9.00	\$9,000.00		\$0.0	
11 A a	Small Roof Repair Areas:Install 4" dia leader 24 Guarge galvanized steel 0 S.F 500 S.F.	100	SF	\$4.00	\$400.00	\$10.00	\$1,000.00		\$0.0	
11 A b	Medium to Large Roof Repair/Replacement areas 501 S.F. and up.	501	SF	\$5.00	\$2,505.00	\$8.00	\$4,008.00		\$0.0	
11 B a	Small Roof Repair Areas : aluminum, 0 S.F 500 S.F.	100	SF	\$7.00	\$700.00	\$12.00	\$1,200.00		\$0.0	
41 B b	Medium to Large Roof Repair/Replacement areas 501 S.F. and up.	501	SF	\$7.00	\$3,507.00	\$10.00	\$5,010.00		\$0.0	
11 C a	Small Roof Repair Areas: stainless steel,0 S.F 500 S.F.	100	SF	\$12.00	\$1,200.00	\$12.00	\$1,200.00		\$0.0	
41 C b	Medium to Large Roof Repair/Replacement areas 501 S.F. and up.	1000	SF	\$11.00	\$11,000.00	\$11.00	\$11,000.00		\$0.0	
12 A a	Small Roof Repair Areas: install concrete roof tile- spanish S tile 0 S.F 500 S.F.	1500	SF	\$5.00	\$7,500.00	\$5.50	\$8,250.00		\$0.0	
12 A b	Medium to Large Roof Repair/Replacement areas 501 S.F. and up.	2000	SF	\$4.00	\$8,000.00	\$5.00	\$10,000.00		\$0.0	
12 B a	Small Roof Repair Areas: install concrete roof tile- flat shingle,0 S.F 500 S.F.	1500	SF	\$4.00	\$6,000.00	\$3.50	\$5,250.00		\$0.0	
12 B b	Medium to Large Roof Repair/Replacement areas 501 S.F. and up.	2000	SF	\$3.00	\$6,000.00	\$3.00	\$6,000.00		\$0.0	
13	Cost Plus Arrangement- markup	30000	%	\$0.25	\$7,500.00	\$0.15	\$4,500.00		\$0.0	
14	Allowance for crane rental	1	AL	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00		\$0.0	
15	Medium to Large Roof Inspection Area	50000	SF	\$0.10	\$5,000.00	\$0.50	\$25,000.00		\$0.0	
16	Lighting protection allowance	1	AL	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00		\$0.0	
7	Rubberized elastomeric coasting Form Flex 6000 or similar over existing roofs to include preparation of	10000	SF		· · ·					
	surface			\$2.75	\$27,500.00	\$2.50	,		\$0.0	
otal Base B	<u>Bid</u>				\$1,943,189.50		\$2,120,751.20		\$0.	